Chapter 12, 13, 14

12-29 Fixed- and Variable-Cost Pools

The city of Cedarcrest signed a lease for a photocopy machine at $2,000 per month and $.02 per copy. Operating costs for toner, paper, operator salary, and so on are all variable at $.03 per copy. Departments had projected a need for 50,000 copies a month. The Public Works Department predicted its usage at 18,000 copies a month. It made 21,000 copies in August.

1. Suppose one predetermined rate per copy was used to allocate all photocopy costs. What rate would be used and how much cost would be allocated to the Public Works Department in August?

2. Suppose fixed- and variable-cost pools were allocated separately. Specify how each pool should be allocated. Compute the cost allocated to the Public Works Department in August.

3. Which method, the one in number 1 or the one in number 2, do you prefer? Explain.

12-37 By-products Costing Allsap Apple Company buys apples from local orchards and presses them to produce apple juice. The pulp that remains after pressing is sold to farmers as livestock food. This livestock food is accounted for as a by-product. During the 20X7 fiscal year, the company paid $800,000 to purchase 8 million pounds of apples. After processing, 1 million pounds of pulp remained. Allsap spent $30,000 to package and ship the pulp, which was sold for $50,000.

1. How much of the joint cost of the apples is allocated to the pulp?

2. Compute the total inventory cost (and therefore the cost of goods sold) for the pulp.

3. Assume that $130,000 was spent to press the apples and $150,000 was spent to filter, pasteurize, and pack the apple juice. Compute the total inventory cost of the apple juice produced.

13-41 Underapplied and Overapplied Overhead
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14-25 Analysis of Job-Cost Data

The Cabrillo Construction Company constructs houses on speculation. That is, the houses are begun before any buyer is known. Even if the buyer agrees to purchase a house under construction, no sales are recorded until the house is completed and accepted for delivery. The job-cost records contained the following (in thousands):
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Compute Ganz's (1) WIP Inventory at May 31, (2) Finished-Goods Inventory at May 31, and (3)
Cost of Goods Sold for May.

14-25 Analysis of Job-Cost Data

The Cabrillo Construction Company constructs houses on speculation. That is, the houses are begun
before any buyer is known. Even if the buyer agrees to purchase a house under construction, no sales
are recorded until the house is completed and accepted for delivery. The job-cost records contained
the following (in thousands):

. Compute Cabrillo’s cost of (a) construction-in-process inventory at September 30 and October
31, (b) finished-houses inventory at September 30 and October 31, and (c) cost of houses sold for
September and October.

. Prepare summary journal entries for the transfer of completed houses from construction in
process to finished houses for September and October.
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1. Compute Cabrillo’s cost of (a) construction-in-process inventory at September 30 and October 31, (b) finished-houses inventory at September 30 and October 31, and (c) cost of houses sold for September and October. 
2. Prepare summary journal entries for the transfer of completed houses from construction in process to finished houses for September and October.

3. Record the cash sale (price = $345,000) and cost of house sold for Job 53.

